
If Human activities are causing the rise in CO2 levels why 
aren’t the higher levels over the industrialised world?

If the highest levels of CO2 are over the densely forested 
non- industrialised Amazon basin and sub-tropical Africa 

why aren’t higher levels of CO2 a good thing?

Why do we want to make  CO2 levels lower? The map 
shows that levels around 360 parts/molecules per million 

are over the snow covered areas of Earth.

These are the satellite observations. They are not models 
or projections. They are reality.  They are from Professor 
Murry Salby’s work. To see his 2011 presentation go here 

http://bit.ly/murrysalby  His comments re where  the 
highest levels of CO2 are located is at 10 minutes in.
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